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6B Problem Set
Find the area, perimeter or missing parts of of each figure. It might help you to draw each figure. Please show
all work used to find each and make sure answers are in simplest form.

1) Find the area of a triangle with a base of 2\/5 cm and a height of 5«/3 cm.
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2) Find the area and perimeter of an isosceles trapezoid with a bases of 8«/3 in and 12«/5, a height of

6+/3 in and side lengths of 6\/5 in. (You might want to look up how to find the area of a trapezoid if
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3) If a rectangle has an area of 24«/3 meters and one side length that is 6\/5 meters what is the other
side length and the perimeter?. AES
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Find the area and perimeter of each figure.
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Find the missing side length, and then find the area and perimeter.
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10) Use the distance formula to find the distance

11) **Challenge
Between (3,+/20) and (19, \[_ 43).
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